GEOP 315

Fall 2003
Lab assignment # 5
T-X Curves
(Due date: December 1, 2003)

Objective


To calculate the layer parameters given the T-X data.

Introduction


The T-X equation for a horizontal layer with constant velocity is:






T2 = T02 + X2/V2,



     

where T0 = 2H/V, V and h are the layer’s velocity and thickness, respectively.  The NMO correction is given by:

TNMO(X) ( X2/ 2T0V2.


The T-X equation for a dipping layer with constant velocity is:

T2 = T02 + X2/V2 + 4X H sin/V2,

where T0 = 2H/V, V, H, and  are the layer’s velocity, thickness, and dip, respectively.  The DMO correction is given by:

TDMO ( 2sin/V.

· Data File.



Exercises


Given the MS-Excel Worksheets in the file HW5-TX.xls:

1. For the single horizontal layer case, find:

(a) The layer velocity

(b) The layer thickness

(c) TNMO(X) for –2400 < X < 2400?  [You may supply a table or a curve].

(d) How does TNMO(X) changes with X?

2. For the single dipping layer case, find:

(a) The layer velocity

(b) The layer thickness

(c) The layer dip

(d) TDMO(X) for –2400 < X < 2400?  [You may supply a table or a curve].

(e) How does TDMO(X) changes with X?










































